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Direction : Answer the following questions by selecting the most %ropﬂate opfon.

1. gMie &9 § dfag T=at 3 e B 1. Which type ;: education would be
T B TG arft ? appropriate for socially deprived
. ; children ?
1) SHERE frem 1) Informal education
2) fafarse farem 2) Special education
) qash fen 3) Inclusive rgducation
4) it farem 4) Religiougducation
-

2. =fafea & & #9741 Fo9 oftege 2. Which of the%llowing statement is
& FE-amiE fawEm fowi @ correct regarding adolescence,
I fweraen & Hdw § @@ under Erikson's Psycho-social
7 development theory ?

1) SE-UEdH UF HAEE qA- A 1) Ego-identity is a positive
RN Bl psycho-social aspect.

2) 3E-TBdH UF FTHS T - AT 2) Ego-identity is a negative
RS &l psycho-social aspect.

92 “3E-Yedq UF dacey HAl-grEif 3) Ego-idenrtity iIs a neutral
e 2l psycho-sg\cia] aspect.

4) SE-UETE iz HA-AMIH T8 4) Ego-ider@y is not just a
& TEt 2 psycho_—s@ial aspect.

3. & goMde aae § fAefaied @ 3. Which of the following characteristic
PH-T fasrear 72F 36 s & ? is not seen in a creative child ?

1) HER fiaw 1) Divergent thinking
2) Hfy R % 2) Extreme curiosity
3 = eI . 3) High imaginations
4) T faEmr 4) Conventional thoughts
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7. “§ARYE P9q Ram @t s @
@t wdt &, s gom od Rd o
T & afewR T 8 ot R

R & quRsH & ge o e
g R g e -

1) THo o Tho 2005

_2) THo o 3o 3o o

3) FAwH

4) A%
8. 3f& wd fawg # fFg wadR & qRadH

3 -

(@) R & FTHR F ghady -

(b) IR & FIud & qRIdH

() T TN &1 faefiaq

(@) T farwenstt @ e

7E FE F AT FC

1) (a), (b) U9 ()
A (a),(b) T (d)

3) (a), (c) T (d)

4) (a), (b), (c) 7@ (d)

9. freifafad & 4 Fr-a1 FaT AU
wﬁwwwmmaﬁ

2) ﬂhﬁ?ﬂﬂ gy 3 ager @l
fafeea fean waq & & .

3) afprom drEd & a@der # .
gfspaar @rdt &

4) sRirem @@y & FEer @
TGS I &
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JVE
"Inclusion is not confined to the

disabled but it also mean no
exclusion of any child.”

[6/A]

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) ®NCERT
00

3) UNESCO
4) BNICEF
=4

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Cho%se the correct code :

Code

1) Q) (b) & (c)

2) (a), (b) & (d)

3) (@), (c) & (d)

4) (a), (@), (c) & (d)

Which of the following statements
does not explain the positive
impact of motivation on learning ?
1) Motivation impairs learning
(behaviour
QO
2) Motivation provide definite
:girection to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.
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2) Tl fareor Ant
3) Hd erwT,
4) g Breror afem

17. W%Gﬂﬂﬂﬁm@@ﬁ;ﬁ

.
1§amrmmﬁ
}%Ww
3) ST gfpans
4) T Sy

[ Levol-!ﬁ1 ]

Which of the following -t';'i..

15.
correct regarding eleme s
intelligence and their dimepg
under the Three Dime iog
Intelligence theory of Guilford
Elements of Dimeng
Intelligence

e 1) Unit Product
2) Cognition Operation
3) Evaluation Operatio;_-_-'l
4) Relations X Content f

1
16. Which one of the following is nof

11.

key feature of child -centre
learning approach ?

1) Meaningful lg_al_rningi
opportunities

2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not
the interrelated processes of
observational learning ?

1) Attentional Processes %
2) -

Retentionga) Processes

3) Motivationg) Processes

4) Conjunctional Processes
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53. Which of the following sentences is

54.

55.

56.

the correct option to express a

probable conditipfl ?

1) If I were a l:gd I would fly to
you. "_;

2) If you touch\@ live wire, you
will get a shocCk.

3) If you will read this book, you
will learn grammar.

4) IfIhad reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect:

He thought / he @1 be able to do /

A @ B

whatever he waﬂ%d / with his job.
C = D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / irghe Palestinian

. E ) cause.
1) A & B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

4) slide
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51.

58.

b9.

60.

e blank with the co

Fill in th

form of verb:

When I1ast ..oooooee ™ her, she wag
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the plank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary" :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought
3) Would 4) Must
Arrange the following jumblec

options in the correct order ar
then choose the correct option :

(A) 1s heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,BA

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B
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